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5. Consider the power series f(z) = Z (5 + —) ",
n
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a. Find the radius of convergence R of the power series.
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b. Determine whether f(R) converges absolutely, converges conditionally, or diverges.
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c. Determine whether f(—R) converges absolutely, converges conditionally, or diverges.

/S:(/l\- i (\ sr .(—7.)"= Z(—r)n- (nf%h CLWTL’ [’D al T Lecmsis
h =

n " 7 u oy
gqv\\"": 5&(’({\‘ (\y%\) A«\zvj(/, c \\\V\ ([\,%’_\j —e 0 b(j Ms@L\ \wke

n=o V\,—}W

d. Choose a suitable positive integer M and show that f(1) < M. ~&1You will earn max{22 — 3M, 0} points
from this part for a completely
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